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Unit 3 Practice Test

Directions:

This is a 27-question practice test. It does not count toward your overall score, and you may take it as many times as you choose.
button in the Results section below for a study guide covering the questions

Once you've completed a take, click on the
that you missed.

1) QID: 38590
Simplify. 145515
2
[4x5°)(-627) - 24"
144z ™
— 4827y

2) QID: 38565

None of the above

Express with only positive exponents.
I:23 xjy) -
(24 e yj) ry

Assume that all variables represent honzero numbers.

12
X

2lUyIS
zlﬂxlsyls
2my22

12
X

.12
2%y
.7(18

None of the above

3) QID: 38557
Simplify. 1
2a~b 2am7Y
da’h® 5 133,710
1
Assume that all variables represent nonzero numbers. BT
2(1 ljblﬂ

None of the above



4) QID: 38493

Express in decimal notation.

2.69x 108

5) QID: 72324

0.00000369
369,000
36,900,000
3,690,000

None of the above

True or false? true
1827 +i—9 false
fix

is a second degree trinomial.

6) QID: 27109

Find the product: 1992 + 5 - &

Erx+3GEx-0
1222 - z-6
1075 +6
1222 47 +6

None of the above

7) QID: 39329
Find the product: 25z —T0x+49
(5x =7 255 +49
25x% =355+ 49
255 —dx +49
None of the above
8) QID: 43227
Simplify. 6xt —11x7 +67x% —43x +7

|:5x2 —3x- 2)(;:3 -8x+ 9)
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Sxt 6T 11 - 11+ 7
6xt +5x" - 112 +7x-18
Sxt -4z + 67 - 112 - 18
None of the above



9) QID: 56290

Expand. 82 + 60x%y — 15007 —125)°

(2x-5yY 825 - 20x%y + 5022 —1255°
2x0 = 30x%y - 30xp° - 5"
8x — 3052y - 307 — 125"

None of the above

10) QID: 72369

Factor out the greatest common factor. Gt h? (gaﬁ + 3gb + 523k + .:z)
12a* 5 +182°5° + 30a*s® + 62”0

ba’b* (2a + 38 + Sak)
6a’t" (2a* + 3ab + 5a°b)
ba’ & (2ab +3+ 5a + )

None of the above

11) QID: 43646

Factor out the greatest commen factor. S (2a3 242 + 2)

12a* 1827 + 1247
e (2.:;2 < St 2)

3572 (442 ~6a +4)
a(]2a3 - 1842 +12a)

None of the above

12) QID: 43485

Completely factor the polynomial. 2(x — 6y)(X + 3)

25t +12xy - 36y —6x (X + 6y)(x — 3)
2(x% + 6xy — 18y — 3X)
2(x+ 6y)(x —3)
None of the above
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13) QID: 43567

Factor:
2xt-2xt —dx

14) QID: 43579

2(x* +1)(x-2)
Zx[x +1:I[x —2:]
2x|:x2 +x- 2:1

x[2x +1:I[x —2:]

None of the above

Factor:
60x% +51x — 30

15) QID: 43687

Factor:
102% - 21y + 997

16) QID: 44089

—3(5x - 2)(4x +5)
3(5x - 2)(4x +35)
3(5x +2)(4x - 3)
—3(5x+2)(4x +5)

None of the above

Izﬁx - 3}:‘)[2;{ + 3}1)

None of the above

Factor.
257 = T0xp +493°

(5x = 7y)(5x +7y)
(25% =Ty )(x + T)
(5x+ 7y
(52 - 7»)"

None of the above
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17) QID: 44179

Factor:

21x? — 49"

18) QID: 44279

None of the above

Factor:
277%-8

19) QID: 44400

(3/-2)
(37 +6)8f
(37 -2)
(

3 -2) 9 65 +4)

None of the above

Factor.
xD + ylﬂ

20) QID: 45879

None of the above

Solve.
x +dx-12=0

-4, 12

-12,4

-6,2

-2,6

None of the above
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21) QID: 45917

Solve.
472 +16x-48 =0

22) QID: 45811

4

4,4
16
-16, 16

None of the above

Solve.
2xt+x=6

23) QID: 45468

Divide.

(2x° +3x —6x+10) +(x +3)

24) QID: 45505

None of the above

xt-3x+
2x% +3x+3
2x% -3x+3
2xt +3x+3, R2

None of the above

Divide.
-zt +2x-1
x=3

—x2-x+3,R 8

—x2-x-4,R-12
—x2—3x+11,R 34
—x2-3x—7,R-22

None of the above
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25) QID: 48156

Simplify by synthetic division:
xt+8x° - 13x% -92x+103

x-1

26) QID: 47511

x3+9x2+4x—96—8—
x-1
.
-
3 2 ?
A8 —-dx-98+ ——
v

8a

x-1

P+ +9x-4-

—_

P-4+

None of the above

Use synthetic division to complete the indicated
factorization.
-2 +20=(x-4) )

27) QID: 48946

Use the remainder theorem, e ainde
—-2x +4x* —6x-8

x+2

¥ —4x -5
2 —25x+120
2 +dx =5
x*—17x—48

None of the above

0
-12
36
—4
None of the above





